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⑦ µ e - F È , s o that ,fo r r > R , qu i= o since theargumento f

t h e square root becomes negative.

Th e density i n fact i s piecewise constantand m u s t b e

vanishing i n the infinite r a nge r > R , to del iver a f i n i te
number o f particles,i .e , m u s t be integrable!
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With donorsonly the photoabsorption threshold equals Eh,hence

③ E ! = Mj¥+13.6 W = 5.07xh tm l⇒ e = ✓☹ 5.07×40-3
= 13.3

④ OLÀ,di☹me).0lb = 1%59×0.529 È = 107È

⑤ L e s , è , » d e l Ao
, where a c i s a measu re of the W s a l l .

⑥ We need E != MI#×13.6W=☹☹×13.6= 3.84×10'µ
We restrict t overy l o w temperatures

c ) the photoabsorption threshold i s due t ot h e Ea☹É$
promotionof a n electron from the top of Valancet o e o ☹t h e acceptor l e v e l : i t i s ,therefore 3.84-uteri



C i ) There a r e n o holes,ut i le w e have Not-Naelectrons o n donors.
Therefore the threshold i s E! = 5.07×0-3e v


